900mm (

1,150mm)

1200

1000

800

600

400

200

S61
S62
S63

© ~ X D
I T T T

1986 2005

H10
H11
H12
H13

20

H14
H15
H16

) 9,010km2(
156km
34

587 . 2km?
16.1
2 2,700

2

6

1/110 1/250

A@
WA, A
L i

1HE
&
WD

1/600
1/3,000 1/4,500
400
300
~
E 200 |
100 |
0
100 Lo
20 40 60 80 100 120 140 160 180 200 220 240
(KP)
2,463
23%
1000 E H13 H
F mH14
800 B H15 |
600
3
400
200
0
T TRESOER
4500
[oER
1004 meE
R 30 o+E
AN
+ 3000 oam | |
< 2508 OB&
5 2000 SR
- 1508 O8E
1,000
500
) TN ON TP EONTEBO N DD Do
SEEEECSECEEIEEEATEEEE .




367ha

] 41 55
T11.8
9,390m/s( ) 4,478
5,243ha 9
T12
:9,740m3/s, :3,340m%/s
S37.8 9
8,839m/s( ) 3,793
40,768ha 2
S41
10,200m3/s, :4,800m%/s
- 9,700m3/s, =4,000m3/s
S47.9
7,787m3/s( ) 3,013
30,729%a 5
- -..F.J.E..t_:.:;.‘i'.".'.-l- -
S50.5 3 s 763 e
4,167m3/s( ) 186 10, 768ha
2,698ha ’
i EE R
S55
-15,200m%/s, :6,800m3/s
13,700m3/s, :6,100m3/s
S56.8
7,671m/s( ) 355
7,017ha
S58
( )
H13.9
7,391m/s( ) 11
298ha
H15.8
6,700m/s( ) 51




0.2% 4.2%

436% | 92.0%

52%
17

AR,

KP21 KP38

11

62




15,200m3/s 6,800m3/s
(S55)
3 214.8mn/3  ( ) 245.7 3 1/150
m/3 ( ) ( 1/150) 12,100 15,600m/s 6,000
( ) 7,400m3/s 11 8 16,900m3/s
3
15,200m¥/s( ) 6,800m/s( ) ™ 56 8 7,900m3/s
13,700m3/s( ) 6,100m3/s( ) - -
| - L. 20000 11 S 0
2 — 48 9
- - " Qp =16900
- 15000 25
. & 15,200m/s o
300 7 L. “
. 214.8mm/3 | | . - o] E El: vt v 0000 | 5@
S55 = 2 b1 il | || e
e — P LSS S s
B ? | e | 15.800mS
- - P M 28] 5000 | 75
e - ra 10,000 20,000
50 o
. 3 (/s) 0 100
0 JE—
S36 S39 S42 S45 S48 S51 S54 S57 S60 S63 H3 H6 H9 H12 H15 - ; —_— EE\’O{ - 12288 8/23 8/24 8/25 8/26 8/21 8/28
20000 ] T 7] EE— ; — 13700 0:00 0:00 0:00 0:00 0:00 0:00
1 — LN3Q 14100
15000 [ — LN2LM 12400
- 1 LN2PM 12100 12000 0
€ 10000 | (555) | — —= e e wocan 0t
10000 o 79500 — 10
0 | P! il de - o
S36 S39 S42 S45 S48 S51 S54 S57 S60 S63 H3 H12 H15 = = “'2 E
- ~6000 30 ¥~
350 - A
| | 245.7mm/3 .
300 (Sss)l— l - 4 4000 ’ 7 40
250 | -
E 200 = - 6,800m%/s 2000 + 1 50
150 | . by |
T N | - OO)m3}S£ 1| 0 ‘ ‘ 60
50 1 WW Wﬂw H_H ( m ‘ e oF T e —— s W= 8/4 8/5 8/6 8/7 8/8 8/9
0 = P : L7, 4D0Om4s 0:00 0:00 0:00 0:00 0:00 0:00
S36 S39 S42 S45 S48 S51 S54 S57 S60 S63 H3 H12 H15 -_: - E
10000 = -.:
| 6,800n°/s | 3 5,000 10,000
8000 | 2 = '
A : y
mﬁ 6000 | (555)| i :
- 4000 | . G (m3/8300
— EV L 7 3
2000 B — LP3 7400 15,200m /S
’ — 6100 3
0 il _ 0 cL0n 6,800m3/s
S36 S39 S42 S45 S48 S51 S54 S57 S60 S63 H3 H6 H9 H12 H15 o i I f— J— — —n e




[ |
|| 25("',)
1 F -
® . 20 F — KP21.05
° g —
15 | — P ———— ——
- ——
10 s kp5.68 — |
= e
1 i
F’/ 5
o b 7
° 4 6 8 10 12 14 16 18 20 22 24 26 28 30
o —— O T
m
55()
50 .
45 |
40
35
30
20
15 |
10 |
5




(m

35

KP16.09

KP39.2

|KP'§0 2 1 /
’fﬂ/i
%//:5;
3 32 34 36 a8 40

(KP)

~ 1,500

n®/s
15,200 m3/s 6,800 m3/s
o o o o o
o o o o o
~ ~ o — n
— N - - -
] [ 1 1 u 1 (] 1 1
I 4
~ 13,700 ~ 10,100 \l’_ 6,100 ~ 3,400
1 1 1
o o o
o o o
o e ~ |eo ~
o - -

o2




R - |
- T - AESE
0 BRENE
M+ SSEinE-sn
H MiEia
- TEG
mETH®




33

11

€TH

8H

€H

19S

9SS

18S

9vS

BOD75%




m 70m3/s

( -5/1 8/31)

(69.3m%/s) _ (0.0m¥/s) (21.8m%/s)

KP37.4

( :5/1 8/31)

(m3/s)

(ms3/s)

475 69.3m3/s

30.0 80

N I 2R 2B N A N

D,
&

60

0 10 30 40 50 60 70 80 90 100

KP37.6 (km)

'I-\.
-. —— -\-H--\—\_.|
L ) J
- ®
F - L]
.-"'- . e Y
o "l
G ] |9
] F b -
5 .. . L gl . . :
Gl 5 S gty 1] X P S, - - IL_ 1|". s ‘ ".;
5 3 K - F I.- 1 L i
I',r'lhll.l ‘o [ gy, L k e
& 5 L] 1, e i r P & 1 ol - h
4 "'\-I_ ¥ Lt . "1-:..' :'-. -i'ﬁ:_.- £ 4 o I Ii'l o RN = A
O e T S Yl
.- o . e L i ) w .
H .I.._F,- '\.I' 1 & i £ u : L
h S -',,-:"‘- .a i i ":'a e ;2
. ¥ " oy A _..,‘ﬂ'\-l.:._ o Lk e e __."
Izp b o ‘.-'"r:,_- L e b o e g L A = P Cal i,
= - - -3 = ] =
86.5 iy o ; _ \ A K37 4 N R R P o
- s : 2K KP37.4( 35cm) i e
& e :
.
=1

12.0 R
R e et g 11.0 | it ' o g T R
§ :

: 1 =T It LT < '.‘h' - 18 . = | :Il"‘dE v
-_" | el ! k. 4 £ 10.0 35em ! 5 5 e
. s | e | 00 | / P

8.0 r
7.0

300 350 400 450 500 550 70m3/s

. .F'.




(KP21.0)
(KP55.0 20
180 i H - 48
| S —
160 | B 1
10
150 fII 1 e 13 //
ii a (KP21.0) 1‘3‘8 M /
L HWL = 11.96(m)
ié - 120 | O 00h va WW""’"QW | /,
€8 0 || per ; /7 \
6 v 2
4 L 1 o/ 90 1
2 ——HWL —_— 48 | 80 | -10 - 140 /
0 """ — ® — 1| o125 10 15 20 25 30 35

-2 ‘ ‘ 60 |1
-200 0 200 400 600 800 1000 1200 5 | S48 HI3 /

_ X(m) o P -
4 KP55.0 30 ~
38 :ﬂ\ HWL = 35.99 [ ig i Mﬁr
o 36 - Tl | e - | (KP43.3) - 120
O | SN 0t & [ 9 %5
34 — )
32 % A/\F?-@J w0, 10 20 30 40 50 60 70 80 90 100
30 — — KP
28 v FQJ :HWL ig I 18 \ 1/3,000 1/4,500 1/800 1/1,200 1/200 1/600 /
26 I I
\ -100 0 100 200 300 400 500 600 700 800 /— ( ) \
H1 H13 13
[m (558 HOD))
C )
a
A WWWW‘WW
0 10 20 30 40 50 60 70 80 90 100
KP
( ) [m (HO1 H13)]
n i i
L 1_1“1& IIW‘"'I Tfﬂ“r ‘IF-“ ,_err 1I"]11I| rJ|.|||I ]WTIFI[HH IHu‘j“..IILr.T llILI.IjldllllllMu].rh IL Y 1*""“"'1]"'?#““] .Tu 'I" l"l'r ".l Jl_l
0 10 20 30 40 50 60 70 80 90 100
KP M ’




